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Match #13


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
THIS IS A COMPUTATION QUESTION.  What is 15 times 25 times 30?

ANSWER:
11,250
2.
The financial success of this novel enabled its author to “simply mess about in boats” like his animal characters. The god, Pan, and a Wayfayer make a single appearance each. The weasels, squirrels and rabbits seem to be a lower social class in what novel by Kenneth Grahame that feature the adventures of Badger, Mole, Ratty and Mr. Toad? 

ANSWER: The Wind in the Willows
3.
The first is “Del dot E equals rho divided by epsilon sub zero.” The second is “del dot B equals zero.” There are two other of what equations of electromagnetism, named for their British discoverer? 

ANSWER:
James Clerk Maxwell (accept Maxwell equations)
4.
In April, Iranian president Mahmoud Ahmadinejad (ah-MAH-dee-nay-jahd) lifted a ban, now allowing what people to attend sporting events, provided they receive permission from the head of household?

ANSWER: women
5.
He won numerous battles, including Boyacá (boh-yah-KAH) and Junín (hoo-NEEN). However, his idea of Gran Colombia died shortly after he did, in 1830. What South American revolutionary, known as “The Liberator,” has a South American country named for him?

ANSWER: Simon Bolivar
6.
Mark Valley will play the title role in this film directed by Emilio Estevez.  Elijah Wood and Lindsay Lohan portray a married couple, while Anthony Hopkins plays a doorman at the Ambassador Hotel.  What 2006 movie depicts Sirhan Sirhan’s assassination of Presidential candidate Robert F. Kennedy?

ANSWER:   Bobby (accept Bobby Kennedy; prompt on “Robert Kennedy” until the end) 

7.
The first victims were the three network news offices, the New York Post and the National Enquirer. Three weeks later, several Senators received letters, addressed, “4TH GRADE / GREENDALE SCHOOL / FRANKLIN PARK, NJ 08852.” Stephen Hatfill is the closest thing to a suspect in what case where the letters all contained a white powder that were spores of a disease? 

ANSWER: anthrax (accept anthrax letters, attacks, etc.)

8.
American Idol contestant Camile Velasco sang this song the week she was eliminated, substituting the words “back to the island of Maui” for “back to the howling old owl in the woods”.  The title track off of Elton John’s eighth album was what 1973 song that alluded to the Emerald City and began with the words “When are you gonna come down?”

ANSWER:  ”Goodbye Yellow Brick Road”

9.
In British English, if this Latin phrase comes at the end of a list, a comma is still placed before it. It should never come after the word “and,” due to the meaning of the first word. What two Latin words, used to represent other items in a group, mean “and the others” in English and are abbreviated etc (e-t-c)?

ANSWER: et cetera (et SEH-teh-rah)

10.
Hitting in this means you found what you’re looking for, however, if you miss you must take a penalty and access the slower memory in RAM or, even worse, the hard disk. Name this type of memory best described as a temporary storage area where frequently accessed data can be stored for rapid access.

ANSWER: Cache

11.
In 1982, it became illegal to make jokes about the name of its President, Canaan Banana. It had earlier declared independence in 1965 under Ian Smith, who was eventually overthrown by the ZANU (zah-NOO) in 1980. What African country, today, is being led towards ruin by Robert Mugabe (moo-GAH-bee)?

ANSWER: Zimbabwe or Rhodesia
12.
THIS IS A COMPUTATION QUESTION. How many protons are in a molecule of caffeine which has formula C8H10N4O2?

ANSWER:
102
13.
One will not find supermodels in this 1885 painting, as the artist deliberately chose the ugliest peasants from Brabant that he could find as models for the work.  Dark greens and browns dominate what realistic portrayal by Vincent Van Gogh of five people from the country dining on tubers?

ANSWER:  The Potato Eaters
14. 
They can only occur when the surrounding temperature is below minus 57 Celsius. A study after September 11 noticed that the daily temperatures increased about 1 degree Celsius since there were none of these. They are caused either by a temperature and pressure change around an airplane’s wings or by the presence of additional moisture in the area around an airplane. What are the water vapor paths behind an airplane?

ANSWER: contrails
15.
After this novel was published, responses such as The Sword and the Distaff and The Planter’s Northern Bride were published by angry Southerners. Arthur Shelby, Augustine St. Clair and Simon Legree were the three owners of the title slave in what anti-slavery novel by Harriet Beecher Stowe? 

ANSWER: Uncle Tom’s Cabin (prompt on “Uncle Tom”)

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What “Great Leader” started the Korean War and was the first President of North Korea? 

ANSWER: Kim Il-sung (prompt on “Kim”)

1B.
In the Roman Catholic church, a priest oversees a parish, but what administrative unit does a bishop oversee?

ANSWER: diocese
2A.
Jacques Offenbach composed a three-act opera based on the “tales” of which German Romantic short-story writer?

ANSWER:  E.T.A. Hoffmann (The Tales of Hoffmann)

2B.
She lives on Klickitat Street in Portland, Oregon, and has a sister named Beatrice, or Beezus. What Beverly Cleary character is a member of the Quimby family? 

ANSWER: Ramona Quimby
3A.
He was Captain Flint’s quartermaster and Squire Trelawney hired him as the cook on the Hispaniola. Who is this villain of Treasure Island?
ANSWER: Long John Silver
3B.
What two-word term for unnecessary bureaucracy and regulation comes from what the British used to keep bundles of official paperwork together in the 17th century?

ANSWER: red tape
4A.
Physician brothers William James and Charles Horace founded what famous clinic in Rochester, Minnesota? 

ANSWER: Mayo
4B.
In what human body part would you find the duodenum (doo-AW-deh-num), ileum (ih-LEE-um) and jejunum (jeh-JOO-num)?

ANSWER:
small intestine (do not accept or prompt on “intestine”)
5A.
THIS IS A COMPUTATION QUESTION. What is the radian measure of an angle measuring 75 degrees?

ANSWER:
5 pi over 12
5B.
Express, as a single logarithm, the logarithm of 3 plus the logarithm of 5. 

ANSWER: the logarithm of 15

6A.
What four words were coined as the state tourism slogan for the Commonwealth of Virginia in 1969?

ANSWER: Virginia is for lovers
6B.
What is the chemical formula for ammonia?

ANSWER:
NH3
7A.
What name is given to a present participle when it is used as a noun?

ANSWER: gerund
7B.
Who wrote the novel The Shipping News but is far-better known for the film adaptation of her short story, “Brokeback Mountain?” 

ANSWER: E(dna) Annie Proulx (PROOL)
8A.
Judges in Italy announced that they were charging what former Prime Minster in connection with a bribery scandal?

ANSWER: Silvio Berlusconi
8B.
Fredericton is the capital of what Canadian province?

ANSWER: New Brunswick
9A.
What substance makes up the outer surfaces of teeth?

ANSWER:
enamel
9B.
THIS IS A COMPUTATION QUESTION.  Without replacement, what is the probability in simplest terms of drawing three consecutive diamonds out of a standard 52-card deck?

ANSWER:
11/850
10A.
THIS IS A COMPUTATION QUESTION. What is the surface area of a sphere with a radius of 10 feet?

ANSWER:
400 pi square feet
10B.
John Wooden led which school to ten national college basketball championships, including seven straight from 1967 to 1973?

ANSWER:  UCLA
Third period, 15 toss-ups, 10 points each

1.
The female lead in this play forged her father’s name on a loan application to save her husband’s life. When this deception is discovered, her thanks is a sharp rebuke from her husband, even though the blackmailer, Nils Krogstad, recants his story. Nora leaves her husband Torvald at the end of what play by Henrik Ibsen? 

ANSWER: A Doll’s House or Et dukkehejm (et doo-keh-HAYM)

2.
By mass, it’s the sixth most plentiful element in Earth’s crust.  Its principal ores are brucite, dolomite, and epsomite.  Name this element with average atomic mass 24.31, atomic number 12, and symbol Mg.

ANSWER:
magnesium
3.
The main character meets friends including Tjaden (TYAH-den), Müller (MEW-ler) and his mentor, Stanislaus Katczinsky (kat-CHIN-skee) while serving in the trenches. He is killed during an otherwise uneventful day – in fact the army dispatch to Berlin says there is “nothing new” on the front. Paul Bäumer (BOY-mer) is a German soldier in what novel by Erich Maria Remarque (reh-mar-KAY) set in France during World War I?

ANSWER: All Quiet on the Western Front
4.
With the giantess Grid, he had a son named Vidar.  His flawlessly accurate spear is named Gungnir (GOONG-neer), and he gives his food to his wolves, Geri and Freki.  Who is this resident of Asgard, head of both the Aesir (EE-seer) and the entire Norse pantheon?

ANSWER:  Odin
5.
This office reached its greatest power in the late 19th century under near-dictators such as Thomas Reed and Joseph Cannon. Frederick Muhlenberg was the first one, but it wasn’t until Henry Clay was elected to the post that it had any power. Sam Rayburn spent 18 years in what position that is the presiding officer of the House of Representatives?

ANSWER: Speaker of the House
6.
A carpenter uses this five-letter word to describe a tool that smoothes a wooden surface. A mathematician uses this term to define anything containing at least three points and all the lines connecting those points. What is this word most often used to describe a large vehicle used to travel by air?

ANSWER: plane

7.
The first of them included the battles of Agrigentum (ah-gree-GHEN-tum) and Adys (ah-DEES), but was mostly fought on the Mediterranean. The third of them consisted solely of a three year siege on the North African coast, after which the Romans burned the enemy city to the ground. Hannibal fought in the second of what three wars in which Rome destroyed Carthage as a power? 

ANSWER: Punic Wars

8.
This word is the opposite of qaideen (KIGH-deen). What term, meaning “struggler” in Arabic, describes someone that struggles or fights, especially in reference to Islamic resistance fighters in Bosnia and Afghanistan?

ANSWER: mujahideen (moo-jah-hih-DEEN) (Prompt on “muj”) (NOTE: accept a variety of pronounciations, since Arabic transliteration is often inexact.)
9.
He argued in 1919’s The Economic Consequences of the Peace that German war reparations were too high. What British economist is most famous for The General Theory of Employment, Interest and Money, which holds that increasing government spending during recessions is the key to lessening the effects of recessions? 

ANSWER: John Maynard Keynes (KANEZ)

10.
In Voltaire’s Candide, Dr. Pangloss has it.  Caused by the Treponema pallidum (tree-poh-NEE-muh pah-LIH-dum) bacterium, its stages are primary, secondary, tertiary, latent, and congenital.  Name this sexually transmitted disease also known as the Great Pox, the French disease, or Miss Siff.

ANSWER:
syphilis
11.
This city, the site of the American Revolution Battle of Great Bridge, was formed in 1963 by a merger of the city of South Norfolk and the county of Norfolk. What city is located to the west of Virginia Beach and does not touch the major body of water for which it is named? 

ANSWER: Chesapeake, Virginia

12.
It won the 2006 MTV Video Music Award for Best Choreography.  Sophie Muller (MYOO-lur) directed this video that intended to re-create the atmosphere of the Carnival (carn-ee-VAHL) de Barranquilla (bar-ahn-KEE-ya), the artist’s hometown.  Featuring Wyclef Jean, what video shows off Shakira’s singing and dancing abilities? 

ANSWER:   Hips Don’t Lie
13.
In 1968, this writer engaged in a series of famous debates with William F. Buckley. His novel The City and the Pillar dealt with homosexual themes and his novels Burr, 1876, Lincoln and Empire deal with American history. What writer is perhaps best known for his novel Myra Breckinridge? 

ANSWER: Gore Vidal
14.
Chronic myelogenous (my-eh-loh-JEE-nus), acute myelogenous, chronic lymphocytic (lim-foh-SIGH-tik), and acute lymphocytic are the four main types of this cancer. What cancer’s symptoms include abnormally high white blood cell counts and affect the blood or bone marrow?

ANSWER:
leukemia
15.
THIS IS A COMPUTATION QUESTION.  What is the slope-intercept form of the line with equation 2y minus 4x equals 18?

ANSWER:
y equals 2x plus 9
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Her real-life father Chuck was a sportswriter for the Cleveland Plain Dealer, and her TV husband from 1996 to 2005 was also a sportswriter.  She played a villain in Beethoven, but which actress is best known for her role as Debra Barone, the wife of Ray on Everybody Loves Raymond?

ANSWER:   Patricia Heaton
2. 
The central and northern segments meet near Hollister, before it runs past Loma Prieta (pree-AY-tah) and then underwater.  The central segment also exhibits a phenomenon where it is able to move without the buildup of stress.  A destructive 1994 event, and an even more destructive event in 1906, occurred along what boundary between the Pacific and North American plates?

ANSWER: San Andreas Fault
3.
His daughter Sarah married future Confederate President Jefferson Davis. He served in the War of 1812, the Black Hawk War and the Seminole War. He became a national hero after winning the battles of Palo Alto, Monterey and Buena Vista during the Mexican War. What Virginian was then elected President over Lewis Cass in 1848? 

ANSWER: Zachary Taylor
4.
 This verb comes to us from a Latin word meaning, “to wash.” One meaning of this word refers to passing something through a second party to conceal its source, especially in reference to passing money to cover criminal activity. What is this word that also refers to the innocent act of washing one’s clothing?

ANSWER: launder (accept forms – launders, laundering and laundered)

5.
The only subset of this set is itself. It is a subset, however, of any other set. The union of any set A with this set is the set A. What is this set that has no elements?

ANSWER: empty or null set

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

